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Group-A 

      1. Answer any five questions from the following:                                                   [𝟓 ×  𝟐 = 𝟏𝟎] 

a) Find the value of x for which the two vectors 𝐴 = 𝑖+̂𝑗̂x+𝑘̂ and 𝐵⃑⃑=3𝑖-̂2𝑗̂+2𝑘̂ are perpendicular 

to each other. 

b) If the electrostatic potential is (40𝑥2 + 30𝑦2 − 10𝑧2). Then find the components of electric 

field intensity at point (−3, 2, 5 ). 

c) Define electric dipole moment. 

d) State Ampere’s Circuital Theorem. 

e) A current distribution gives rise to the magnetic vector potential 𝐴(𝑥, 𝑦, 𝑧)= 𝑥2𝑦 𝑖̂ + 𝑦2𝑥 𝑗̂ −

𝑥𝑦𝑧 𝑘̂. Find the corresponding magnetic field 𝐵⃑⃑ at (−1, 2, 5 ). 

f) How Tesla and Gauss is related?                     

                                                             

                                                                 Group-B 

 

2. Answer any five questions from the following:                                              [𝟓 ×  𝟓 =  𝟐𝟓]                         

a) State Gauss’s divergence theorem in vector analysis. Applying Gauss’s divergence theorem, 

prove that∫ 𝒓⃑⃑.𝒅𝒔⃑⃑ ⃑⃑⃑=3V, where V is the volume enclosed by the closed surface S.       2 + 3 = 5   

b) Show that 𝛁⃑⃑⃑(𝑨⃑⃑⃑.𝒓⃑⃑) =𝑨⃑⃑⃑, where 𝐴 is a constant vector and 𝑟 is a position vector. What do you 

mean by conservative force?                                                                                       3 + 2 = 5  

 

c) State Gauss’s theorem of electrostatics. Apply Gauss’s theorem of electrostatic find out the 

electric field at a point near a uniformly charged, long, straight wire.                       2 + 3 = 5  

d) Obtain the differential form of Gauss’s law from its integral form. What is the physical 

significance of  ∇ ⃑⃑⃑⃑ 𝑥 𝐸⃑⃑ = 0?                                                                                         3 + 2 = 5 

e) Calculate the force per unit length on a straight wire carrying current 3 A due to another long 

parallel wire with current 4 A at a separation of 0.3 m. Find also the nature of force for anti-

parallel direction of current through these wires.                                                       3 + 2 = 5 

                                                                                           

f) What is Lorentz force? Write its expression. A straight wire carries a current of 4 A. Find the 

magnitude and the direction of magnetic field at a point 12 cm away from the wire. 

                                                                                                                             1 + 1 + 3 = 5 



 

                                                                                                                              

                                                                  Group-C 

 

3. Answer any five questions from the following:                                                [𝟓 ×  𝟑 = 𝟏𝟓] 
                             

a) What is the value of resistance for ideal voltmeter and ammeter? 

b) What is Potentiometer? In which principle potentiometer works? 

c) Why is an ammeter connected in series in a circuit? 

d) What do you mean by a Shunt? 

e) What is the Carey Foster’s bridge? Upon what principle Carey Foster’s bridge is based? 

f) Why should the position of the null point near the middle of the wire? 

 

 

                                                              [Bengali version] 

                                                              Group-A 

১। যে য োন ো পোাঁচটি প্রনের উত্তর দোওঃ                                                                                      [৫ × ২ = ১০] 

ক) X এর মান ননন নয় কর যার জনয দুটি ভেক্টর 𝑨⃑⃑⃑ = 𝒊̂+x𝒋+̂𝒌̂ এবং 𝑩⃑⃑⃑=3𝒊̂-2𝒋+̂2𝒌̂ একক অপকরর লম্ব হয়। 

খ) ভকাকনা অঞ্চকল তনিৎকেকের নবেব (40𝑥2 + 30𝑦2 − 10𝑧2)হকল, (−3, 2, 5 )নবন্দকুত তনিৎকেকের 

প্রাবকলযর উপাংশ গুনল ননন নয় কর।  

গ) তনিৎ নিকমরু-ভ্রামককর সংজ্ঞা দাও। 

ঘ) অযামনপয়াকব়ে ব়ে  পনরক্রমন উপপাদয নববৃত কর। 

ঙ) একটি তনিৎবাহী পনরবাহীর মধ্য নদকয় তনিৎপ্রবাকহর জনয সম্ভাবয ভ ৌম্বকীয় নবেব 𝐴(𝑥, 𝑦, 𝑧)= 𝑥2𝑦 𝑖̂ +

𝑦2𝑥 𝑗̂ − 𝑥𝑦𝑧 𝑘̂ হকল, (-1,2,5) নবন্দকুত ভ ৌম্বকীয় ভেে প্রাবকলযর মান ননন নয় কর। 

 ) ভিসলা ও গাউকসর মকধ্য সম্পকন ননন নয় কর।  

  

                                                              Group-B     

 

২। যে য োন ো পোাঁচটি প্রনের উত্তর দোওঃ                                                                                      [৫ ×  ৫ = ২৫] 

ক) ভেক্টর কলন সম্পনকনত গকসর ডাইোরকজন্স উপপাদয নববৃত কর। গকসর ডাইোরকজন্স উপপাকদযর সাহাকযয 

ভদখাও ভয ∫ 𝒓⃑⃑.𝒅𝒔⃑⃑ ⃑⃑ ⃑=3V, ভযখাকন বদ্ধকেে S িারা আবদ্ধ আয়তন V।                                                    ২+৩=৫ 

খ) খ) ভদখাও ভয 𝛁⃑⃑⃑(𝑨⃑⃑⃑.𝒓⃑⃑) =𝑨⃑⃑⃑, ভযখাকন 𝐴 একটি ধ্রবক ভেক্টর এবং 𝑟 একটি অবস্থান ভেক্টর। সংরেী বল বলকত 

কী ভবাঝ?                                                                                                                                         ৩+২=৫    

গ) নস্থর- তনিৎ সংক্রান্ত গাউকসর উপপাদযটি ভলখ। এই উপপাকদযর সাহাকযয সুষমোকব আনহত একটি দীঘ ন 

ধ্াতুতার ভেকক ভকাকনা একটি নবন্দকুত তনিৎকেএ ননর্ নয় কর।                                                              ২+৩=৫    

 



ঘ) গাউকসর সূকের সমাকল রূপ ভেকক অবকল রূপটি ননন নয় কর।  ∇ ⃑⃑⃑⃑ ×  𝐸⃑⃑ = 0 এর ভেৌত তাৎপয ন ভলখ।  

                                                                                                                                       ৩+২=৫              

ঙ)) দুটি দীঘ ন ঋজ ুসমান্তরাল তারকক 0.3 m বযবধ্াকন ভরকখ একটির মধ্য নদকয় 3A অনযটির মধ্য নদকয় 4 A 

প্রবাহমাো ভগকল তারটির প্রনত একক দদকঘ নয কত বল ক্রক্রয়া করকব? তারদুটির মধ্য নদকয় নবপরীত (anti-parallel) 

প্রবাহ হকল ভসকেকে তাকরর ওপর বকলর প্রকৃনত ভকমন হকব?                                                             ৩+২=৫   

 ) ভলাকরঞ্জ  বল বলকত নক ভবাঝায়? এর গানননতক সমীকরর্ ভলখ। একটি েুদ্র তনিৎবাহী পনরবাহীর মধ্য নদকয় 4 

A তনিৎপ্রবাহ ভগকল পনরবাহী ভেকক 12 cm দরূকে ভ ৌম্বকীয় ভেে প্রাবকলযর মান ও অনেমুখ ননন নয় কর। 

                                                                                                                                                    ১+১+৩=৫ 

 

            

Group-C 

 

 ৩। যে য োন ো পোাঁচটি প্রনের উত্তর দোওঃ                                                                                    [৫ ×  ৩ = ১৫] 

ক) আদশ ন ভোল্টনমিার এবং অযানমিাকরর জনয প্রনতকরাকধ্র মান কত? 

খ) ভপাকিননশওনমিার নক? ভকান নীনতকত ভপাকিননশওনমিার কাজ ককর? 

গ) ভকন একটি সানকনকির সাকে একটি অযানমিার নসনরকজর সাকে সংযুক্ত োকক? 

ঘ) শান্ট বলকত কী ভবাঝ? 

ঙ) কযানর ফ্রস্টার নিজটি কী? এটি ভকান্ নীনত নেনি ককর? 

 ) তাকরর মাঝখাকনর (middle of the wire) কাকে নাল পকয়কন্টর অবস্থান ভকন হওয়া উন ত? 

 

 

 

 

Answer scripts must be emailed to sem2gcityphysics@gmail.com within 15 minutes of the 

end of the examination. 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 


